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Sample Paper – 2008
 Class – X
 Subject -Mathematics
Trigonometry (Assignment)
Prove the following identities:

1. [image: image1.png]tan 8 +cot 8 = cosec8.sec 8




2. [image: image2.png]cosf 1-sin &
1+sn @ cosé





3. [image: image3.png](sin ¢~ cos g} +(sin g+ cos g




4. [image: image4.png]1+secd _ sin’ 8

secd  1-cosd




5. [image: image5.png]cos’ 8

cosec





6. [image: image6.png]1-sin 4
T+sin A

(secA—tan A =




7. [image: image7.png]tan A+tan B
cot A+cot B

tan Atan B




8. [image: image8.png]tan All - cot 4)+cot Al —tan* 4)=





9. [image: image9.png]S S Py —
oA+t A o A—secd




10. [image: image10.png]



11. [image: image11.png]sin’ a+cos’ @
2 P iosingcosa
sin @ +cosex




12. [image: image12.png]sin® xcosx+cos’ xsin x = sin xcosx




13. [image: image13.png]cos & cos &
274 % 2w
cosecO+1 cosecd—1




14. [image: image14.png]cosec?(90° - 8)—tan® 8= cos?(90° - 8)+cos? 8.




15. [image: image15.png]sinA-sin B , cosA-cosB
cosA+cosB  sin A+sin B




16. [image: image16.png]1 1 1 1
cosecA—cotA sin A sin A cosecA+cot A





17. [image: image17.png]sec Al - sin A)(sec A+ tan A





18. [image: image18.png]sin 8- 2sin” g _
2cos’ B—cosd

tan &,




19. [image: image19.png]cosectA—cot* A=1+2cot* 4




20. [image: image20.png]2

IT4cot A—cosecd=—— =
T+tan A+sec 4




21. [image: image21.png]1-ten 8)* _1+tan’ 8
1-cotd) l+cot’ @





22. If [image: image22.png]tan A+sin A=m



and [image: image23.png]tan A—sin A




show that [image: image24.png]


< 

23. If [image: image25.png]acos@-bsin &




prove that [image: image26.png]asin 8+bcosf=ta’ +4° ¢




24. If [image: image27.png]cos@—sin 8= 2sin 6,



prove that [image: image28.png]cos@+sin 8 = +/2 cos 8.




25. If [image: image29.png]sin A+cos A=2,



prove that [image: image30.png]sin’ A+cos’ A=2,




26. If [image: image31.png]


find the value of [image: image32.png]2secd
1+tan’ 8




27. If [image: image33.png]cosa

=m
oo




and [image: image34.png]


show that [image: image35.png][ +n? Jeos® B=n?




28. If [image: image36.png]sin 8 +sin* @




prove that [image: image37.png]cos?8+cost &





29. If [image: image38.png]acosfcos g,




[image: image39.png]y=acos8sin g,



[image: image40.png]z=asin 8,



prove that [image: image41.png]P 4yi+zt=a




30.  Simplify: [image: image42.png](1+tan® @)(1—sin 8)(1+cos §)




31.  Evaluate: [image: image43.png][sec? @-1)(1- cosec’d)




32.  Evaluate: [image: image44.png]4(sm‘30“+:os‘so“)—§(sm’so“ cos?45?)+ +5sin? 60°




33.  Evaluate: [image: image45.png]%(cos‘ 30° —sin * 45° )~ 3{sin ? 60° — sec? 45° ) +- 4:0; 2300




34. [image: image46.png]tan 8+sin & _secf+1_1+cosd
tan O—sin @ secf-1 1-cos@





35.  [image: image47.png]1-cos@
1+cosé

(cosec@-cot &)




36.  [image: image48.png]



37.  [image: image49.png](sin @+ cosec)” +(cos 8 +secd)’ =7 +tan” f+cot’ @




38.  [image: image50.png]sect@-secif=tan' @ +tan’ @




39.  [image: image51.png]cotf-tan 8=

2005’ 8-1

sin Bcos &




40.  [image: image52.png]



41.  [image: image53.png]sec? @+ cosec? = sec® 8. cosec?d




42.  [image: image54.png](cosec@+cot8)




43. . [image: image55.png]1+5sin 8

= (secf+tan §)°
T-sn @




44.  [image: image56.png]1

8—sin B)(secd-cosf)=———
(cosec=sin E)secb-cos0)= —L—




45.  [image: image57.png]sinf-2sin*g _
2cos® B—cosd




46. [image: image58.png]2sec? @—sect 8- 2cosec @ +cosect@=cot* @—tant @





47. [image: image59.png]038 | 6 _ ptcoss

1-tan8@ 1-cotd




48. [image: image60.png]sin & sin &
w8 gy &
cot8+cosecd cot@—cosecd




49.  [image: image61.png]sinf  l+cosd
l+cosf sné

=2cosech





50.  [image: image62.png](sin 8 +sec8) +(cos 8 +cosec ) = (1+secBcosecE)




51.  [image: image63.png]cos’ 8 sin® 8
+

— 7 _14sinBcosd
1-tand sin O—cosf




52.  [image: image64.png]sinf-cosf | sinftcosd 2
sin @4+cosf sin B—cosd 2sin’d




53.  [image: image65.png]sin@+1-cosd  1-sin &
cosf@—1+sin 8  cosf





54.  [image: image66.png](1-sin @+ cos8)? = 2(1+cos @)1 —sin &)




55.  [image: image67.png]T+cosd  [1-cosf

+ =2cosecd
T-cos@  Vl+cosé





56.  [image: image68.png]T+sin 8

1=sin @

f=sin &
T+sin @





57. [image: image69.png]secf-1  [secf+1

+ =2cosecd
sec8+1 Vsec@-1





58.  [image: image70.png]1 11 1
cosecBtcotf sinf sin @ cosecf—rcot A





59.  [image: image71.png]tn§ | cotd
1-cotd 1-tan

=1+tan &+ cot 84





60.  [image: image72.png]cos 4 sin® 4

- sin A+cos A
1—tan A cosA—sin A




61.  [image: image73.png]1+cosé-sin? 6
sin B(1+ cos 6)

=cotd




62.  [image: image74.png]cosecA | cosecd o o2y
cosecd—1  cosecd+1




63.  If [image: image75.png]sin 8+cos




determine [image: image76.png]cot @




64.  If [image: image77.png]cos@+cos8 = 2 cos 8,



Show taht [image: image78.png]



65.  If [image: image79.png]tan & + sin 8 = m and tan € —sin &




Show that [image: image80.png]



66.  If [image: image81.png]sin @+cos8 = p and sec 8 +cosecl =



Show that [image: image82.png]a(p’-D=2p




67.  If [image: image83.png]3tan 8 =4,



find the value of [image: image84.png]Ssin #-3cos 8
Ssin @+ 2c0s 8




68.  If [image: image85.png]3cotf=4,



find the value of [image: image86.png]Scos 8- 2sin 8
Scos8+3sin &




69.  If [image: image87.png]


show that [image: image88.png]2 h=
(m* +n*)cos® g




70.  [image: image89.png]a cos8 —bsin 8 = x and



[image: image90.png]asin @+bcosf=y,



prove that [image: image91.png]a’+pt = x4yt




71.  If [image: image92.png]secf=x+




prove that [image: image93.png]sec &+ tan 6= 2ror -
ox




72.  If [image: image94.png]psecl+qtan 8



and [image: image95.png]y=ptan 8 +gsecé,



prove that [image: image96.png]



73.  If [image: image97.png]sin @+sin’@=1



prove that [image: image98.png]cos?@+cost @





74. [image: image99.png]cot54°  tan 20°
s
tan 36°  cot70°





75. [image: image100.png]cosB80°

-+ c0s59° cosecc31”

sin 10"




76.  [image: image101.png]pe0s67°

o

tend0®
cot50°




77.  [image: image102.png]sin43° _ cot30°

0547’ tan 600

—2sin

45°




78.  [image: image103.png]cot40° 1(cos35°
tan 50°





79.  tan 350 tan 400 tan 450 tan 500 tan 550 

80.  tan 70 tan 230 tan 600 tan 670 tan 830
81.  tan 50 tan 250 tan 300 tan 650 tan 850 

82. [image: image104.png]cosec(65° +8) = sec(25” — 8) —tan(55" - 8) +cot(35" + 8)




83. [image: image105.png]tan 50° +sec 50°

ﬁ+cos4o“ cosec50®
ot 40° + cosec




84.  [image: image106.png]cos® 20° +cos® 70°
sin 2 59° 4sin 231°




85.  [image: image107.png]220% 4+ cog? 70°
cos? 200 eos 00 | 2 o
sin 2 20° + sin 2707




86.  [image: image108.png]sin 220° +sin 270°  ((sin(90° — 8)sin & " cos(90° - @) cos &
cos? 20+cos? 70° tan & coté




87.  [image: image109.png]s5ec(90° — 8) cosec 8 tan(90° — 8) cot &+ (cos? 35° +cos? 55°)
tan 5° tan 15° tan 45° tan 75" tan 85°





88.  Express sin 810 + tan 710 in terms of trigonometric ratios of angles between 00 and 450.

89.  Express cos 750 + cot 750 in terms of trigonometric ratios of angles between 00 and 450.

90.  If [image: image110.png]tan 26 = cot(8 +6"),



where [image: image111.png]28 and 6+6



are acute angles, find the value of [image: image112.png]



91. . If A and B are acute angles and sin A = cos B, Prove that A + B = 900. 

92. . If A, B, C are the interior angles of a triangle ABC, show that show that [image: image113.png]



93.  [image: image114.png]sin
-8
cos(90

)
o
2,8=
-8
03(90°
o
]
sin




94.  [image: image115.png]8
90° - ) cos(90” —8) = — 28 _
sin ). cos( ) 1+tan’ 8




                                                                                                                                        Er. VIKRANT AGGARWAL


 (Lecturer, Ludhiana College of engineering & technology,
 Lecturer – mathematics. institute of chartered accountant of India.)
ANANYA INSTITUTE

2502, HIG FLATS, PHASE-II, DUGRI, URBAN ESTATE, LUDHIANA        M-9915089502
-------------------------------------------------------------------------------------------------------
www.cbseguess.com
Other Educational Portals
www.icseguess.com | www.ignouguess.com | www.dulife.com | www.magicsense.com

[image: image116.png]